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2. Convert 459, into Hexadecimal:

YOUR

SCORE

1. The octal number 3574 expressed in Denary is: 2 g’_‘, S % ‘51+ 1#8°— pblL+ 4O+F

= 13U =
a) 239 b) 324 9 47 > *ht =235

1o=A M=D 11=C 432D 4.¢ 15=F

2) 3DE b) 2AF c) 1CB
16 c b
459 )12 y 2 A

The correct answer for the following arithmetic operation are:

;33’«‘
6114
— 345,

6L

a) 246 b) 244 ©) 2064
When the Hexadecimal numbers E536E and AE465 are added, the correct answer is:
a) 1937D3 E536E b) 1827E2 c) 1747F4

HAELE
19%1D3

Simultaneous equations ate given by 2x + 3y = 12 and 3x + 2y = 3. What is the value of y?

6%+ 39-%6
_bA- 4y -6
By= 30 =|V=6

Iflogs 3 = 0.6826, then logs 752 is: Lo ;s", 9°5 5( us‘)’; 2 LOS Sff;w;‘)
- + Lol
a) 5.3652 l"f“‘b' tDXq b) °§.6826 ¢ 4.6352
=2 2\ _ 26
l°Xs3+l°S? V224268
LT o~

1 =5.2%651
0.6526 2



7. In common logarithmic form, the characteristic of the number 0.00002872 is:

a) 3 b) 4 c) 5
8. Evaluate log(412.2), by using “Log table” given at Page 4: 614947 = €151
a) 2.1269 b) 2.3978 c) 2.6151 2. 6151

W prom tow o log idlole
2 from todrns of Uu,prs\ f"’"{’) +the pext 2 groem collamas of I sewnnd (>s!<"

: . —_ . AU 7% Yz
9. Find the gradient o’g the straight line that passes through the points (3,10) and (6,16):

Y=mr+C m=. 4/40:’5“\ +C
a) 2 b) 3 le=pm+C o 4
Y9-%  fe-1o ¢ _ =-$n\—¢
M- - >
M 6> Az emf

b-=dm = | M= L.
10. Find the value of "c¢"if the straight-line y = mx + ¢ passes through the point (2,1) and has a
gradient of 5: Y=52A+C 5

) 5 1=5%TrC & o ¢ -5

C=4-102 —9

11. Which one of the following diagrams represent the graph of the linear equation y = —3x + 4:

whun %.:Olﬂ:(t
)y b) Y ‘*’“‘;‘(‘k"q 0 y
"3
0 X 0 X 0 X

12. Which of the following equations produce a reciprocal curve?
) y=x24+x+4 b) y=Z+7 c) v =3x—x3+ 4x?
x

13. At what point does the straight line represented by the equation 7y = 10 — 6x cross the y axis?

[TVV- ;8 =0
a) 10 b) 6 Thes % 10



14. Express the point (r,0) = (—7,160") in Cartesian coordinates (x, y).

a) (7co0s(3207),7sin(320"))

b) (7 cos(3307),7sin (330"))

o . o W
c) (7cos(340),7sin(340))

3 o 4 o
15. Express the point (6,8) in Polar coordinates (r, 8) if tan~! (Z) =0.64 1pq tan? (E) =0.93

AY
a) (10, 0.93") b) (9, 0.64) c) (10, 0.64")
197 |8
&
16. In the following right-angled triangle ABC, the expression for the length x is: 6 x«
3.4
A o ’mn% = —=
a) 7tan(38 ) 6 1
-1
7 an & =0.57
b) ——= 1
tan(38°) °
. 2 - tgn2%
tan (38") * 9
SSC?\ 9 =%tan?®
B 7 cm C

17. What is the expression for sin(407) ?

A
BC
a) B
S b e
BC
9) ic
B C
18. Convert 23.875 into bicimal:
a) 10111.111, b) 10110.1111, c 10011.110,
%,’f % OF 0.91S X2 :@,?50
51 ®. o x2-Mso -1
2 |2 @ 0.sv%x1 =(4. 00
é@? K yoa1. 111
3 A0 1A




19. Express —13 using two’s complement.
a) 100011 b) 110011 ¢ 101001

e 42t
oo 41 4 =-1%

a_ b c .
20. The solutions of the equation y = 7x? — 11x + 2 are: a=7, b=-11 C=
13 V52 13 V52 _—lo— Vi#-4ac 7(4_41-}'{0.1 -423 _ "__Vve
) ———, —+— A,= —— 3 1 14
14 147 14 14 2-3
2Q
b BT 2 T "oV

‘—+_

7 7° 7 7 A=
-l +V +6ac 1t

1 _ V65 11 V6s Ny =

VR VR VLY 2a
Log Table cuemath
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